7809 :-.r_u:-uld be used. Otherwise, alittle | ent from that of ordinary transistors, is
| h1um will be generated. Pin configura- = shown in the diagram.
' tion of transistor BD139, being iffer-

upon the length (height) of the antenna.

metres. The range w:ill'actually depend ,
A regulated 9-volt supply usin gIC

Quiz Display with Seven-Segment

uiz contests are becoming increas-
ingly popular and the so-called ‘buzzer’
rounds are now an integral part of such
contests, In such rounds cach tcam is
provided with a pushbutton switch and
questions are addressed to all the par-
ticipating tcams. The team that presses

l

Indication

connected to the push-to-on swilches
and outputs (o the inputs of IC2 which
1S a priority encoder. [C2 is used in this
circuit to convert the data lalched on
IC1 to BCD. The outputs of IC2 are
inverted by N1-N4 which are inverters.
The complemented outputs are fed to

+ -
A8 S AT < RS ‘l’ns R4 < A3
15K € 1.56€ 215K 215K 215K 215K
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e

dell |1

L i + o 4+ -

K.M. Reddy

cause whencver any one of the swilches
is pressed, the output of [C4 goes high.
The complement of this input is fed to
the enable input of I1C1, disabling the
latches until the resct switch is pressed.

The circuil must be powered by a -
volt 5% power supply. Current limit-

l!-ﬁ'n."

MN1-N5
ICS

S1.58 - PUSH-TO-ON SWITCHES
59 - PUSH-TO-OFF SWITCH
DIS-1 - LTS S42FND 507

R10-A16 - TxS800

the buzzer first is allowed to answer the
question. A circuit that can be used for
this purpose is shown in the figure. It
can accommodalte up to eight teams. It
makes use of a 7-segment display to
indicate the team that pressed the switch
first.

The circuit is based on TTL ICs,.
IC1 is an 8-hit latch whose inpuls are

LZ:1| ELECTRONICS PROJECTS

the inputs of IC3which isa BCD to 7-
segment display decoder. This device's
outputs drive a common-anode, 7-seg-
ment display. Current limiting resistors
R10 to R17 limit the current available
tothe display. [C4 isused to prevent the

latches from registering more than one |

lcam’s input, i.e. only the first tcam’'s
input is registred. This happens be-

ing resistors (R10-R16) values may be
increased to decrease brightness of the

| display and vice-versa. The whole cir-
- cuit may be built on a veroboard. Until

the swilches are pressed, the dispay
will show zero. When a zcro is dis-
played, it means that the circuit has
been reset and that it is ready to accept
data from the swilches.




